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X(X X) x I X(X X) X

− − − − − −

− − − − − − −

− − − − − − −

⎡ ⎤⎡ ⎤′Ω Ω + Ω − Ω ω′ ⎢ ⎥⎢ ⎥⎣ ⎦
⎢ ⎥

⎡ ⎤Ω Ω + Ω − Ω Ω ω′ ′ ′⎢ ⎥⎣ ⎦⎢ ⎥
⎢ ⎥⎡ ⎤Ω Ω + Ω − Ω Ω ω′ ′ ′⎣ ⎦⎢ ⎥⎣ ⎦
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���	3	 ( ) 1* 1 1 1
(i) ix X X X y y

−− − −′Ω Ω + ω Ω′ ′

1 1 1 1
i X(X X) X Y− − − −′− ω Ω Ω Ω′ ′

3	 * 1
(i) G i G

ˆ ˆx e−′β + ω Ω′ ��$�F�

" ���	 Gβ̂ = 1 1(X X)X y− −Ω Ω′ ′ 	��	
 �	��������-��	����
+

�������	�'I��	��
���
��	���	 Gê 	��	
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piσ 	3	 *

i i ii i iˆ ˆ ˆc c 2cΩ + σ − ω′

( ) 1* 1 * *
(i) (i) iix X X x

−−= Ω + σ′ ′

� * 1 1 1
(i) i2x (X X) X− − −− Ω Ω ω′ ′

� 1 1 1 1 1
i iX(X X) X− − − − −⎡ ⎤−ω Ω − Ω Ω Ω ω′ ′ ′⎣ ⎦
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ypi

σ
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i i i i iic c 2cΩ − ω + σ′ ′� � �

3 ( ) ( )1 1* 1 * * * 1 1
(i) (i) ii (i) ix X X x 2x X X X

− −− − −′ ′Ω + σ − Ω Ω ω′ ′ ′

3	 2 * 1 1 1 1 1
pi i iw X(X X) X )− − − − −⎡ ⎤σ + Ω − Ω Ω Ω ω′ ′⎣ ⎦

3	 2 1
pi i
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1 2ˆ ˆ0.612,  0.082,ρ = ρ = − 0 1 2 0 1 2
ˆ ˆ ˆˆ ˆ ˆ( ,  ,  ,  ,  ,  )α α α β β β ′ 	3
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11 22ˆ ˆ36.657,  22.954σ = σ = 	 ���	 12 21ˆ ˆ 15.760.σ = σ =
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* * *
11 22 12ˆ ˆ ˆ58.608,   = 23.109,  = 15.006.σ = σ σ
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